Quiz 1

Math 2350
Fall 2007 Name and section

Solutcon

This quiz deals with lines and planes in space.
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(30%) Write down the equation of the line in space determined by the point P, = (2,-6,5) and
the direction vector a = (~=1,3,2).

(30%) Write down the equation of the plane in space determined by the point P = (4,1,-2)
and the normal vector a = (1,1,-2).

(25%) Consider the equation 2z — Y+3z =T7. Does it determine a line or a plane? Find a point
that lies on this line/plane.

(15%) Find the intersections points of the two planes given by:

® The point P, = (2, —6,5) and the normal vector a; = (-1,3,2)
 The point P, = (5,4, 1) and the normal vector az = (2, -6, —4)
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